H & 0l & AHS B Ml A

PN BES
g LIS A3
=Hel Fe=AY (SH9 H2)
SN - B G(EH) - NRAY - BES 0 & o[- HimE==T
dys 698,332 625,832 72,500
&S Al Y] 228,204 155,704 72,500
FU=AAL 89,000 65,000 24,000
SIS OrSer2 OtAE SIM D] 20,000 0 20,000
401 AIEHIL 20| 20,000 0 20,000
01 Al&EHI 20,000 0 20,000
Oz 0tAZ2 =& 20,000 0 20,000
4SS OISR 2 4,000 0 4,000
401 AIEHIZL 20| 4,000 0 4,000
01 Al&ZHI 4,000 0 4,000
outsdxn 2+ 4,000 0 4,000
T2, 0ldE S3dHIAY 135,204 86,704 48,500
CEH IHEHISAL 48,500 0 48,500
401 AIEHIZL 20| 48,500 0 48,500
01 Al&HI 48,500 0 48,500
O==28 4 &Hl 48,500 0 48,500
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